Project Name: Pleasant Valley Road Improvements - Addition of a Two-Way Left Turn Lane Spec. No. RD20-04 Abstract of Bids opened on March 10, 2020

ENGINEER'S ESTIMATE: 1,800,000.00

LOW BIDDER - Granite Construction Company Ventura, CA 93003	1,204,386.00
2nd Bidder - Toro Enterprises, Inc. Oxnard, CA 93036	1,277,507.25
3rd Bidder - Sully-Miller Contracting Company Brea, CA 92821	1,298,000.00
4th Bidder - C.A. Rasmussen, Inc. Valencia, CA 91355	1,328,796.00
5th Bidder - All American Aphalt Corona, CA 92879	1,769,777.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, County of Ventura, at the time and place designated in the Notice Inviting Bids, were publicly opened, read, and were checked.

Director, Engineering Services Department

Rids or	pened on March 10, 2020			ENGINEER'S	ESTIMATE	LOW BIDDER	
Project	Name: Pleasant Valley Road Improvements - Additi					Granite Construct 4820 McGrath Str Ventura, CA 9300	eet, #101
	Spec. No. RD20-04					ļ	
ITEM NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
949	SCHEDULE 1					100 500 00	106,508.00
1	Mobilization	LS	1	104,919.00	104,919.00	106,508.00	50,000.00
2	Traffic Control & Construction Signing	LS	1	100,000.00	100,000.00	50,000.00	1,200.00
3	Water Pollution Control	LS	1	50,000.00	50,000.00	1,200.00	
4	Roadway Preparation	LS	1	50,000.00	50,000.00	13,500.00	13,500.00
5	Surface Preparation & Crack Treatment	LS	1	80,000.00	80,000.00	17,000.00	17,000.00
6	Cleaning & Grubbing	LS	1	80,000.00	80,000.00	50,000.00	50,000.00
7	Tree & Stump Removal	EA	129	800.00	103,200.00	208.00	26,832.00
8	Potholing	EA	3	1,000.00	3,000.00	1,300.00	3,900.00
9	Unclassified Excavation	CY	3,100	90.00	279,000.00	45.00	139,500.00
10	Sawcut	LF	3,500	2.50	8,750.00	3.00	10,500.00
11	4-Foot-Wide Micro-milling	SF	10,500	2.00	21,000.00	0.90	9,450.00
12	Driveway Approach	SF	850	2.50	2,125.00	8.00	6,800.00
13	Arch Reinforced Concrete Pipe Culvert	LS	1	55,000.00	55,000.00	63,000.00	63,000.00
14	Asphalt Concrete Hot Mix	TN	1,250	150.00	187,500.00	145.00	181,250.00
15	Type II Emulsion-Aggregate Slurry	TN	175	400.00	70,000.00	350.00	61,250.00
16	PBM Processed Miscellaneous Base	TN	4,800	60.00	288,000.00	20.00	96,000.00
		EΑ	2		130.00	4,300.00	8,600.00
17	Gate Replacement Fencing Replacement	LF	1,275	45.00	57,375.00	61.00	77,775.00
18	Pavement Delineation, Striping & Signing	LS	1	110,000.00	110,000.00	21,320.00	21,320.00
19	TOTAL SCHEDULE I		·	,	1,649,999.00		944,385.00
(60	SCHEDULE II			450 000 00	150,000.00	260,000.00	260,000.00
20	Landscape & Irrigation Improvements	LS	1	150,000.00 1.00	150,000.00	•	1.00
21	Release on Contract	LS	1	1.00	150,001.00		260,001.00
	TOTAL SCHEDULE II TOTAL SCHEDULE I AND II				1,800,000.00	===	1,204,386.00

Ride of	pened on March 10, 2020	2nd Bidder):	3rd Bidder	
Project	Name: Pleasant Valley Road Improvements - Additi		nc.	Sully-Miller Contrac	cting Company
li lojeci	Italiic. Fleadait valley French	2101 East Ventura	Blvd.	135 S. State Colleg	ge Blvd., Suite #400
1		Oxnard, CA 93036	S	Brea, CA 92821	
-	Spec. No. RD20-04				
ITEM					7074
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
	SCHEDULE 1			107.000.00	405.000.00
1	Mobilization	133,000.00	133,000.00	125,000.00	125,000.00
2	Traffic Control & Construction Signing	130,000.00	130,000.00	86,707.02	86,707.02
3	Water Pollution Control	7,500.00	7,500.00	5,000.00	5,000.00
4	Roadway Preparation	3,000.00	3,000.00	3,000.00	3,000.00
5	Surface Preparation & Crack Treatment	12,000.00	12,000.00	8,500.00	8,500.00
6	Cleaning & Grubbing	21,000.00	21,000.00	44,000.00	44,000.00
7	Tree & Stump Removal	210.00	27,090.00	220.00	28,380.00
8	Potholing	1,600.00	4,800.00	3,000.00	9,000.00
9	Unclassified Excavation	55.00	170,500.00	55.00	170,500.00
10	Sawcut	1.13	3,955.00	1.80	6,300.00
11	4-Foot-Wide Micro-milling	1.10	11,550.00	1.98	20,790.00
12	Driveway Approach	5.30	4,505.00	11.00	9,350.00
13	Arch Reinforced Concrete Pipe Culvert	47,000.00	47,000.00	47,000.00	47,000.00
14	Asphalt Concrete Hot Mix	106.00	132,500.00	108.00	135,000.00
15	Type II Emulsion-Aggregate Slurry	377.00	65,975.00	433.75	75,906.25
16	PBM Processed Miscellaneous Base	25.00	120,000.00	34.00	163,200.00
17	Gate Replacement	4,650.00	9,300.00	4,432.99	8,865.98
18	Fencing Replacement	65.75	83,831.25	62.89	80,184.75
19	Pavement Delineation, Striping & Signing	24,000.00	24,000.00	21,315.00	21,315.00
13	TOTAL SCHEDULE I	_ ,	1,011,506.25		1,047,999.00
	SCHEDULE II				
20	Landscape & Irrigation Improvements	266,000.00	266,000.00	250,000.00	250,000.00
21	Release on Contract	1.00	1.00	1.00	1.00
41	TOTAL SCHEDULE II		266,001.00		250,001.00
	TOTAL SCHEDULE I AND II		1,277,507.25		1,298,000.00
	TOTAL SCHEDOLL LAND II				

om unit price M=Modified b bidder

Bids of	pened on March 10, 2020	4th Bidder		5th Bidder	
Project	Name: Pleasant Valley Road Improvements - Additi	C.A. Rasmussen,	nc.	All American Aphal	
,		28548 Livingston A	venue	400 East Sixth Stre	et
		Valencia, CA 9135	5	Corona, CA 92879	
	Spec. No. RD20-04				
ITEM			TOTAL	UNIT PRICE	TOTAL
NO.	ITEM	UNIT PRICE	TOTAL	UNITPRICE	I TOTAL
	SCHEDULE 1	400,000,00	400,000,00	180,000.00	180,000.00
1	Mobilization	120,000.00	120,000.00	•	200,000.00
2	Traffic Control & Construction Signing	96,000.00	96,000.00	200,000.00	25,000.00
3	Water Pollution Control	5,000.00	5,000.00	25,000.00	· ·
4	Roadway Preparation	6,100.00	6,100,00	80,000.00	80,000.00
5	Surface Preparation & Crack Treatment	10,400.00	10,400.00	15,000.00	15,000.00
6	Cleaning & Grubbing	75,000.00	75,000.00	43,041.00	43,041.00
7	Tree & Stump Removal	330.00	42,570.00	665.00	85,785.00
8	Potholing	2,600.00	7,800.00	1,400.00	4,200.00
9	Unclassified Excavation	46.00	142,600.00	115.00	356,500.00
10	Sawcut	2.50	8,750.00	2.00	7,000.00
11	4-Foot-Wide Micro-milling	2.20	23,100.00	1.90	19,950.00
12	Driveway Approach	11.00	9,350.00	9.00	7,650.00
13	Arch Reinforced Concrete Pipe Culvert	54,000.00	54,000,00	68,000.00	68,000.00
14	Asphalt Concrete Hot Mix	140.00	175,000.00	119.00	148,750.00
15	Type II Emulsion-Aggregate Slurry	460.00	80,500.00	390.00	68,250.00
16	PBM Processed Miscellaneous Base	20.00	96,000.00	34.50	165,600.00
17	Gate Replacement	4,500.00	9,000.00	4,500.00	9,000.00
18	Fencing Replacement	75.00	95,625.00	62.00	79,050.00
19	Pavement Delineation, Striping & Signing	22,000.00	22,000.00	27,000.00	27,000.00
13	TOTAL SCHEDULE I		1,078,795.00		1,589,776.00
	SCHEDULE II				
	Landscape & Irrigation Improvements	250,000.00	250,000.00	180,000.00	180,000.00
20 21	Release on Contract	1.00	1.00	1.00	1.00
21	TOTAL SCHEDULE II	,	250,001.00		180,001.00
			1,328,796.00		1,769,777.00
	TOTAL SCHEDULE I AND II		1,020,100.00		

COUNTY OF VENTURA - PUBLIC WORKS AGENCY

Bids of	pened on March 10, 2020	6th Bidder	
Project	: Name: Pleasant Valley Road Improvements - Additi		
	Spec. No. RD20-04		,
ITEM	Market Service		
NO.	ITEM	UNIT PRICE	TOTAL
165	SCHEDULE 1		
1	Mobilization		
2	Traffic Control & Construction Signing		•
3	Water Pollution Control		5
4	Roadway Preparation		-
5	Surface Preparation & Crack Treatment		•
6	Cleaning & Grubbing		•
7	Tree & Stump Removal		*
8	Potholing		•
9	Unclassified Excavation		*
10	Sawcut		
11	4-Foot-Wide Micro-milling		*
12	Driveway Approach		2
13	Arch Reinforced Concrete Pipe Culvert		-
14	Asphalt Concrete Hot Mix		-
15	Type II Emulsion-Aggregate Slurry		
16	PBM Processed Miscellaneous Base		*
17	Gate Replacement		
18	Fencing Replacement		*
19	Pavement Delineation, Striping & Signing		
	TOTAL SCHEDULE I		0.00
	SCHEDULE II		
20	Landscape & Irrigation Improvements		ŝ
21	Release on Contract		
	TOTAL SCHEDULE II		0.00
	TOTAL SCHEDULE I AND II		0.00

Spec. No. RD20-04 Project No.: 50516

PROPOSAL

Contractor's Name	Granite Construction	Compan
Contractor 5 Mante		(m) 1 (n) 1 (m) 1 (m)

List of Subcontractors and Off-Job Fabricators

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's	Business Address	Items of Work
or Off-Job Fabricator	License Number		*
Super Seal & Stripe	346627	P.O. Box 755	Charatha
	DIR 1000000752	Fillmore, CA, 93016	Striping
All american asphalt	267073A	400 E. Sexth St,	
	DIR 100000 W 51	Corona, CA, 92878	Slorry
R. Dugan Construction	621586	6157 Mortatt St,	see dealle
	DIR 1000007798	Mira 10ma, CA, 91752	Headwalls
Total Barricade	826823	P.O. Box 7/14	Traffic Control
	DIR 100000752 5	Oxnord, CA, 93031	
Green coust landscape	100 96 58	P.O. Box 430	Tree Removal/clearing
CHEEN COAST TOWN Rape	D1R 10000 62784	Commercialo, CA, 93011	emu, landscape,
Global Road Senling	757584	10832 Dorothy Ave,	Crack filling
CHOOM TOUR TENNING	DIR 1000007714	Garden Grove, CA, 92843	
Ace fonce	996577	727 Glendora Ave,	Fencing
ACE TOTAL	DIR	La Puente, CA, 91744	J 5.1.4
	100000 4092		
ABSL Construction	621781A	29393 Pacific St.	Micro Milling
	D112	Hayward, CA, 94544	,
Berner & Carpenter Inc	157998	506 E. Main St.	Survey
	DIR 1000001843	Senta Pasia, CA, 93060	

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, contractor's license number, and location of the place of business of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of one percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of one percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid."

NOTE: Contractor shall perform, with its own organization, Contract work amounting to at least 50 percent of the Contract Price. See specifications section 2-3.2 for exceptions.

Spec. No. RD20-04 Project No.: 50516

PROPOSAL

Contractor's Name ____TORC

TORO ENTERPRISES, INC.

List of Subcontractors and Off-Job Fabricators

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor or Off-Job Fabricator	Contractor's License Number	Business Address	Items of Work
CASE LAND SUPVEY	L5411	ORANGE, CA	SUPVEY
CONSTRUCTION	621781	HAYWART, CA	EXCAVATION MICRO (PARTIAL MILLA
SUPER SEAL 4 STRIPE	396627	FILMORE, CA	STRIPING
GLOBAL POAD SEALING INC.	757504	GARDEN GROVE, CA	CRACK SEAL
ALL AMERICAN ASPHALT	267073	COPONA, CA	SLURPY SEAL
ACE FENCE, CO.	996577	LA PUENTE, CA	FENCE GATES
GPEEN CUAST LANDSCAPE	1009658	CAMARILLO, CA	TREE REMOVAL CLEAR/GRUB LANDSCAPE/IRPIGAT
			,

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, contractor's license number, and location of the place of business of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of one percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of one percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid."

NOTE: Contractor shall perform, with its own organization, Contract work amounting to at least 50 percent of the Contract Price. See specifications section 2-3.2 for exceptions.